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Name: SID:

Please complete this worksheet during your lab, and turn it in to your TA by the end
of your section. You are encouraged to work with your neighbors collaboratively.

Section Number W @

| Exceptions

Consider the code below. Trace through the main method below and determine
what Java would display. (Your solution should use all 6 blanks.)

Hint: You can check your solution by pasting the code into the online Java visualizer.

public class ExceptionsPuzzle {
public static void checkIfZero(int x) throws Exception {
if (x ==0) {
throw new Exception("x was zero!");
}
System.out.println(x); // PRINT STATEMENT
i A

}
public static int mystery(int x) {

int counter = 0; C()V“’\‘k/ = 2'

try {
while (true) { Z N = ] \/’Z_ =0
X =x/ 2; é /1 - z /
checkIfZero(x);
counter += 1;
System.out.println("counter is " + counter); // PRINT STATEMENT
3

} catch(Exception e) {
return counter;

3

System.out.println("mystery of 1 is " + mystery(1));
System.out.println("mystery of 6 is " + mystery(6)); 3 -
} c (})\A“RK RS

} // continued on next page

public static void main(String[] args) { ) /V\\'( g-kfy Q‘F' I l\S O



2 Lab 12 Worksheet

Write what would be printed below.

2 Iterators

Consider the following code, intended to be included in the SpacelList class.

For each code snippet, determine whether or not the code snippet will perform

correctly according to the requirements of the Iterator interface. Suppose we always

start with an SpacelList<Integer> list containing just the number 5.

private class BadSpacelistIterator implements Iterator<Item> {

private int bookmark = 9;

private boolean done = false;

public boolean hasNext() {
if (done) {
return false;

}

done = true; 1 - \
}

return true;

}
public Item next() V\/\g

Item rtn = vah.es[bookmark];

bookmark +:Q
return rtn;

3

} // continued on next page

if (bookmark == size() 1 {

F=3

e =
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Iterator<Integer> iter = list.iterator();
boolean b; [

b = iter.hasNext(); AN ‘ %(’ Cj
b = iter.hasNext(); —FV\\% \
O Performs correctly /

’ Does not perform correctly

Iterator<Integer> iter = list.iterator();
if(iter.hasNext
(i ()? { .
System.out.println(iter.next());

) %\%

if(iter.hasNext()) { , )
System.out.println(iter.next()); g\ %&'('

} e

# Performs correctly

(O Does not perform correctly

Iterator<Integer> iter = list.iterator();
System.out.println(iter.next());
System.out.println(iter.next());q/

@ Performs correctly

(O Does not, perform correctly

Iterator<Integer> iter = list.iterator();
boolean b;

int n; \/

n iter.next();

b = iter.hasNext();

O Performs correctly

@ Does not perform correctly
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Iterator below returns every nth element in the SLList (e.g. a SLListSkipIterator

Fill in the following code, intended to be included in the SLList class, such that the j
with input 2 returns every other item). <

1 private class SLListSkipIterator implements Iterator<Item> {

3 SLLlstSk‘EI‘.tgator(mt n) {

4

5 ToNmode = Zonhirel . next

6 3

7

8 private ListNode<Item> bookmark;

9 private int skip;

10 - .x-e

n public Item next() { \ m

12 Item tQReturn = bOGK’W’(t

13 for (_I = ; HP ; ! +L ) {
y boolﬁma lc = bc\c—m—\wk ey f

18 if (boslemes e = = e byl

16 ol n= — ’

17 }

18 }

19 return toReturn;

20 }

21

2 public boolean hasNext() { } Y_ _
23 return T)bo MC{k\ S'el/f}-‘m m =
24 }

25}



